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I 'nmwn: a”p nnna 9wyn 21— the “lightest” of the onbw
a 753 vny: anywhere in nty
b op7 inp: 1 - in vicinity of Mo (not on SE corner)
i Implication: all three have same type of ninp; i.e. np» 1 (explicit in re: M1 [v. 1]) -
it Question: who is the author of the mwn (who equates all three for minn)?
1 Answer: 37, who reads v. 1 as alluding (via plural nabn ,nn7) to nnna 9wyn and noa as well as 702
iii  Question: what is the source for the requirement of Tv’n ™13 BT INN?
1 Answer:vv.1,3 compares 20 DT np>r to 11520 0T NP>
(a) Justas: n9wn o1 must be at spot of T’ (per N5 nNam M’ —v. 4), so too, N3N BT
(i) Challenge: if so, 1132 should require 2/4 mnn
(if) Answer (»22x): that’s why the nn explicates 22av in re: 09 (v. 3) and re: nron (v. 5)
1. Teaching: that it is TnR> DX1N D21 2W — only these two require 1720
a.  Challenge: according to nT 1, who allows n>21n3 W to inform
b.  Answer: also states 2°2v in re: DWR (V. 6) — TNRI DRIAN D'1INI NVHY
c. (note: also states in re: DYV —v. 7)
¢ Eating: differentiated
i 7wwp 151 any form of preparation, anywhere in the city for 2 days and night in between
1 7152 eaten by nnand
(a) Question: what is source of 7131 being eaten for 2 days?
(i) Answer:v.1 compares 7131 to (2’n%Y YW) ;W) NN — which are eaten for 2 days
(ii) Story: this was 11970 "1's answer in 1312 072
1. Challenge: 371 compared 1132 to nRon as both are n1n> mann
2. Defense (v”7): 21 and 005w are not brought for a Ron — unlike nxon
a.  Response (37727): 71122 and nron, unlike DY, are not “volunteered” (27171 X% 71721 RY)
3. vy (picked up for v”): v. 2 compares 1131 to ;W) NN (presumably — of D'NYY) - 2 days
4. Challenge (27777): perhaps it's compared to p1wy nrn of NN
a. Block: v.2 adds extra “nnn” —extra day
5. 5xypw /7. heard and castigated ™ for acceding last point
a.  Reason: pyw N of nTin are learned via wp>n — WpPNa TNYM ININ R WPNA TNYN 93T
b.  Therefore: he should have stuck with his first response (p1w ntn — of D'PYWY)
6. Analysis of dispute ¥”17%. 1 holds that if something is learned via wpn+ >wpn (¥ disagrees)
a.  Challenge: we learn 7+1 mrtn in 93°n from 7”p7p — and those from each other (ha+71yv)
i.  Defense: 24 wpn is locations
ii.  Or: the entire 1% was done as one
b.  Challenge: v. 8 teaches - all ynn gifts should be 1 171wy per non (=10 mn vy for nin nnY)
i.  Challenge: perhaps it should be 2 ma 1wy for the whole group (a: n3’nn sets ratio)
ii. Application: v. 9 — also the n¥n should have that ratio
iii. Challenge: according to YRynw> "3, how can this be valid? (violation of wpn% wp'n)
iv. Answer: WRan is an extra word — not learned via wp’n
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2 7wyp by anyone
ii ~ noo only eaten
1 From when: at night
2 Until when: midnight
(a) Per: y"ar1 who infers via v”n of vv. 10-11 — nrn n%%a:ntn n»Ya that the 9”p is eaten until midnight
(i) Dissent: y" — from v. 12, infers that it is eaten until pwan nyw (i.e. when they left — in the morning)
(ii) »”r explains nrn 1’91 as limiting noa to be eaten at night, unlike all other 0>w7p that are eaten on
the day that they are offered
(b) Challenge (»2ax): perhaps the mwn follows " and “midnight” is the 13277 »o
(i) Answer:just like other three limitations (*>% ,1n% ,n%»%1) which are n”nn —
1. Similarly: MmN Ty is RNPIRTD — P”aRY
3 Who may eat: only those in nman ("1in”)
4 Preparation: only roasted
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